
Probability – Day 1 
IC2 



P = Number of successful outcomes 
      Total number of outcomes 

Chance of an event 

*Always between 0 and 1* 
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*choosing an orange marble 
*choosing a red marble 
*Not choosing a red marble 
*choosing a yellow or purple marble 

*Not choosing purple 

*choosing a yellow or red  



No outcomes 
(can’t happen at same time) 

(ME) 

outcomes 
(could happen at same time) 

(NME) 



P(A or B) = P(A) + P(B) P(A or B) = P(A) + P(B) – P(A and B) 

Gets rid of the fact that some outcomes were counted twice. 
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But 6 of face cards are black (NME) 
12                     26 4             13 

But 1  8 is a heart (NME) 
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8 equal outcomes 

Anything but white/no 
sections are both → ME 
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  But 3 are both (NME) 

6                     7 

None are both (ME) 
7                     1 

{0, 1, 3, 5, 6, 7, 8, 9, 11, 12, 15, 18} 


